20195F . BIRFEIAVINEFEFHEXRE XFL—R RFTA1T#H 20194 4A27H-28H
Y M)— —_—

Y ol e | | mEaE® AFE e s [ s [ ] i [ | 8 i [ e [
1 1 BA&XE 31495 | 31495 HES R &R T 1 1 1 3 3 3 5 5|cuT 1 1 1 1 1 1 1 1 1 7
2| 107 HAaKE 31182 | 31182 B HBOXEH 3l 3 3 6 6|CUT 3 3 3 3 3 3 2 2 2 2 2 2l 13
3| 103 Rk 31319 | 31319 TR #=R 2l 2 2 1 1 1| 10| 1o0|cuT 7 6 6 3 3 3 3 3 3l 15
4| 35 THKRE 31498 | 31498 HRIE A% 71 6 6 2 2 2 2 2 2 9 8|cuT 5 5 5 4] 4 4| 19
5| 97 BREEXE 30924 | 30924 fhEm WE#E 8l 7 71 4 4| 4 4 4 4 2 2 2 8 8|cuT 5 5 5| 22
6| 13 HBKE 31336 | 31336 FRED PN 4 4 4 s 5 5] 9 9ocuT 4 4/ 4 6 6 6 8 8 8 27
7| e84 BH#XPRR 30395 | 30395 HEE EHEER 9] 8 8 9 8 8 6 6 6] 11| 1o[ 10| 11| 11|cuT 6 6 6] 38
8| 6 HRIEKE 31430 | 31430 AEEE b= 1215 S 11| 1o[ 10| 15| 12|cuT 8 8 8 6 5 5] 10/ 1o[ 10| 10| 10| 10| 43
9| 20 HBKE 31115 | 31115 mEEnS YREEH 6|DPI 10 7|DPI 11 1|DPI 5 5|UFD |CUT 4|DPI 8 7|DPI 1| 45

10| 4 RERIEKRE 30868 | 30868 HEAHIE EEETF 10 9 of 13| 11| 11 7 7 71 15| 14|cuT 7 7 71 11 11| 11| 45
11| 62 FERKE 31218 | 31218 BBmE HmEAH 5(UFD |CUT 8|BFD 19| 12|PTP 15 8 7 7 9 9 9 9 9 9| 59
12| 80 HAEXE 28539 | 28539 HHRES EAFIFE 15| 14fcuT | 10 9 of 11| 11| 11| 14| 13| 13| 13| 13| 13| 14| 14| 14| 60
13| 93 BETILIKE 31184 | 29884 TS SEREH 12| 11| 11| 11| 10| 10| 13| 13| 13| 12 11| 11| 16| 16| 16| 18|RET |CUT 61
14| 81 HAEXE 29528 | 29528 SEHF RKEER 14| 13| 13| 14|BFD |CcUT | 15| 15| 15| 10| 9 of 14| 14| 14| 12| 12| 12| 63
15| 67 BEEIKE 30428 | 30428 THEE FEE<L/REED 13| 12| 12| 16| 13| 13| 16| 1ejcuT| 16| 15| 15| 12| 12| 12| 13| 13| 13| 65
16 91 BURTII KRS 29745 | 30916 HREH thiE® 2 16| 15| 15| 12|BFD |cUT | 14| 14| 14| 13| 12| 12| 15 15| 15| 15 15| 15| 71
17| 112 B RS 30575 | 30575 SEFHEM R/ RHEE 17| 1e| 16| 18| 15| 15| 17| 17| 17| 17| 16| 16| 18| 18lcuT| 16| 16| 16/ 80
18| 34 IHKE 30825 | 30825 HEEEN BRARE/ERLSS 18| 17( 17| 17| 14| 14| 18|ReT |cuT | 18| 17| 17| 17 17| 17| 7] 7] 17| 82
E3 53] 53] Eh Eh Eh Eh
Rm 60° 80° 40° 220° 200° 210°
8 14knot 9knot 6knot 8knot 8knot Tknot
RE—hEZl 1185025:00F) 12852743005 10850243007 1385074007 1485174007 158524 500%)
4=y a7l (Top) 118£395340%> | 13R5094350%> | 108537230408 | 138%494348%) | 158502435680 | 1685024)56F)
T4=yL 1 BEH (Last) 118548521070 | 128%585354%) | 108%485345%) | 138558532670 | 15850050 12F> | 1685095354%)




